
Problems of the Day 2019 11

There are 26 children in a class.

There are 17 girls in the class.

How many more girls than boys 

are in the class?

The tree is 18 metres shorter 

than the lighthouse.

What is the total height of the 

tree and lighthouse?

1 2

24 m



Put the fractions into their 

correct position in the diagram.

3
8

5
8

7
12

17
20
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Amy makes a repeating 

pattern.

What shape will be in the 50th

position?

Explain how you know.

1 2

Fractions less 

than 3
4

Fractions 

greater than 1
2


